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QUESTION 1

Which of the following factors determines whether a site is required? 

A. Number of servers 

B. Geographic location 

C. Number of antennas 

D. Number of access points 

Correct Answer: D 

 

 

QUESTION 2

You are using maps in the WCS to design a wireless LAN network. You add a campus and two buildings to the map.
Now you plan to add a new floor area to the first building. The floor types include cubes and walled offices, drywall office
only, and outdoor open space. Which of the following do the floor types use to assist the WCS by adding these
elements? 

A. Electromagnetic interference 

B. RF prediction 

C. Site survey utility 

D. RF modeling 

Correct Answer: D 

 

QUESTION 3

Which of the following terms refers to the number of times a cycle of an RF signal will oscillate in one second? 

A. Wavelength 

B. Amplitude 

C. Phase 

D. Frequency 

Correct Answer: D 

 

QUESTION 4
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Which of the following devices use RF to communicate?Each correct answer represents a complete solution. Choose all
that apply. 

A. Transmitter 

B. Reactor 

C. Receiver 

D. Transistor 

Correct Answer: AC 

 

QUESTION 5

Which of the following wireless protocols uses Advanced Encryption Standard (AES) block cipher? 

A. WPA 

B. ARP 

C. 802.11i 

D. WEP 

Correct Answer: C 
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